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Policz pisemnie
i wpisz wynik w krzyzowke.

Poziomo:

2.581 -367 =
4,600 -357 =
7.873-294 =
10. 595 + 307 =
11.825+ 174 =
12.999 -432 =
14. 349 + 652 =
15.645 + 123 =
16. 191 + 389 =

Pionowo:

1.750-329 =
3.910-487 =
5.726 -389 =
6. 804 - 479 =
7.665-158 =
8.764 + 128 =
9.234+ 157 =
10.508 + 472 =
13.389 + 276 =
15.417 + 283 =
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Policz pisemnie
i wpisz wynik w krzyzowke.

Jorawanig ==

Poziomo:

2.581 -367 =
4,600 -357 =
7.873-294 =
10. 595 + 307 =
11.825+ 174 =
12.999 -432 =
14. 349 + 652 =
15.645 + 123 =
16. 191 + 389 =

Pionowo:

1.750-329 =
3.910-487 =
5.726 -389 =
6. 804 - 479 =
7.665-158 =
8.764 + 128 =
9.234+ 157 =
10.508 + 472 =
13.389 + 276 =
15.417 + 283 =
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